HMS LAB HOMEWORK

a. DUE FEB 19th (2:30pm)
In Table 5.10 on page 351 of Bedient and Huber, there are physical parameters for five watersheds for Keegans Bayou (NOTE: “Channel Length” is really the longest distance from the watershed boundary to the outlet.)  

b. Use the TC + R values for each subwatershed given in T 5.14 (and calculate yourself later) and set up HEC-HMS according to data provided in text.

	TABLE 5.14
	% Impervious values

	TABLE 5.11
	Rainfall for 3 recording gages

	TABLE 5.12
	Gage weightings

	TABLE 5.15b
	Routing parameters

	Table 5.16
	Storage routing data


c. - Use “Main” channel for subbasin 2 to route from A to B

d. - Use “Main” channel for subbasin 3 to route from B to C

e. - Estimate the relative lengths for “Main” channel in subbasin 4 to route C to D   and then from D to E.

f. - For the routing steps use Modified Puls 

g. - Assume no Base Flow

h. - SCS loss rate method with CN of 80

i. - State all assumptions

j. Model the rainfall event for existing conditions.

k. Propose and model a new basin model with two detention ponds  (see Case 1 on pages 360 –361 in the text). See table 5.18. 

l. What hydrologic effect does the pond have on the outlet using the same rainfall?

m. Using the base model again from b, evaluate a diversion option from Table 5.20.
